Statement I : In norm-referenced testing of students, test data helps us determine a
students place or rank.

Statement IT: In Criterion-referenced testing, the test data tells uz about a student’s level

of proficiency.

In the light of the above statements, choose the correct answer from the options given below :
(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement IT are false
(3) Statement [ is true but Statement II is false

(d) Statement [ is falze but Statement IT is true

fRnTsmEfem?:

Fwm (I :  Tonfdat = fam oofis ofem 4, whem ses el & = @ ol = Faife == 9 oo

TETEA T 2 |

Fod (D) :  Femg-mzfda ofiem 8, wheo-wi%2 vF om f Ao F = oF e 2

IF T F oATAE A, A= o T 8 8 56 = . 95w FifE

(1) FEIARIIF a2
2) FEIARIIFAIIIE )
(3) wu o 2, afF 5o I s 2

(4 ¥ ] = 2, wie weE o 2

[Question ID = 2587][Question Description = Q09_GP_24NOV_51_SHAAMN_Shift1]
| 1. 1 [Option ID = 10345]

2. 2 [Option ID = 10346]

3. 3 [Option ID = 10347)

4. 4 [Option 1D - 10348)

Correct Answer :-
& 1 [Option ID - 10345]



6) Which of the following is an example of qualitative research?

(1) Experimental research (2) Ex post facto research
(3) Descriptive survey research (4) Grounded theory research

freifafaa d @ F19 m omerE Ty w1 v T A

(1) ETEE Y () wFHERR Y
(3) faaromess masm my (4) smafer faaEaer wy

[Question ID = 2589][Question Description = Q11_GP_24N0OV_51_SHAAN_Shift1]
1. 1 [Option ID = 10353]
2. 2 [Option ID = 10354]
3. 3 [Option ID = 10355]
| 4. 4 [Option ID = 10356]

Correct Answer :-
o 1 [Option ID = 10353]



7) Identify from the list below the threats to internal validity of research.
(A) Interaction of selection and independent variable (X)
(B) Statistical regression

() Interaction of pretesting and X

(D) Differential selection of subjects

(E) Experimental mortality

Choose the correct answer from the options given below :
(1) (B), (D) and (E) only (2} (A). (B) and (C) only
(3) (B). (C) and (D) only (4) (C). (D) and (E) only
= & 7w g 7 7 wwmm it F my f sate Seem F o we a mw 30
(A) =T F s AR = w9 (X)
(B) wifeafm afamsa
(C)  gagfE™ F swatED 3 X
(D) v = w=tE =
(E) vt fawemn

419 20 U faw=ui @ 9 oF 3w =999 Fi

(1) %=« (B). (D) 31 (E) (2) Faa (A). (B) 3117 (C)
(3) == (B), (C) 31 (D) (4) == (C), (D) 3 (E)

[Question ID = 2590][Question Description = Q12_GP_24NOV_S1_SHAAN_Shift1]
| 1. 1 [Option ID = 10357]

2. 2 [Option ID = 10358]

3. 3 [Option ID = 10359]

4. 4 [Option 1D = 10360]

Correct Answer :-
® 1 [Option ID = 10357]



4. 4 [Option ID = 10360]

Correct Answer ;-
& 1 [Option ID = 10357]

8)  Match List I with List IT
List I List IT
Research Steps Characteristics
(A) Research problem definition () Appropriateness of techniques and
their application
{(B) Formulation of research hvpothesis (II} Development of a conceptual
framework which 1= in accord with
hypothesis of research
(C) Design of research (IIT) Defining the variables to be related in
unambiguous terms
(D) Data Analysis (IV) Academic and social value of the
research question to be weighed
Choose the correct answer from the options given below :
(1) (A, (B)-(IV). (C)(I), (D)-(IT)
(2) (A)-(IV), (B)-(III), (C)-(II), (D)-(I)
(3 (A)-(T). (B)-(II), (C)-(III). (D)-(IV)
(4) (A)-(IT). (B)-(D), (C)-dAV). (D)-({III)
et 1 =g G- 11 = foes it
:Fﬁ.l H#I-II
My F =T \EEEGIE]
(A) Ty mae i gfamm (I) i1 =1 I9geaa 31 376 ST
(B) ¥ TERETAT F (I) ™F SFEUEEGF =" F faFm J@ g F
TR ATET R
(C) =y = W=y (ITT) =71 1 g2 s | s %2 |
(D) = fEverm (IV) #9 97 % FHEEE 30 gt 509+
At |
Hra 25 T faFeul § § 99 I w1 95 i
(1) (A)-(IIT), (B)-(IV). (C)y-(T). (D)-(IT)
(2) {A)-(IV), (B)-(IIL}, {Cy-(IL), (D)-(T)
(3) (A)-(T). (B)-(II). (C)-(IID). (D)-(IV)
i4) (A)-(II). (B)-(I), (C)-(TV). (D)-(III}

[Question ID = 2591][Question Description = Q13_GP_24NOV_51_SHAAM_Shift1]
1. 1 [Option ID = 10361]
| 2. 2 [Option ID = 10362]



Unven below are two statements :

Statement I: Scientific research is systematic, controlled, empirical and critical

investigation of hypothetical propositions,

Statement IT: Population of rezearch need not be defined in gualitative and gquantitative

researches.

In the light of the above statements, choose the correct answer from the options given below :
(1)  Both Statement I and Statement II are true
(2) Both Statement I and Statement II are falze
(3) Statement I is true but Statement IT is false

(4) Statement I is false but Statement Il is true
Fe (I): A T GHEEATeAE T S, R, S s e w3 |
F4A (1) : TP S AT S A Y % N Ui W AT 9 2 |

I FAA F AT §, A &2 T e 0 0 a8 36 A i

(1) =FwIAnIzmasgE |
(2) ¥\ 140 I3 o 8
(3) FR 154 2, A FA I 55 2 |
49 F 158 E, A FE 53 7

[Question ID = 2592][Question Description = Q14_GP_24NOV_51_SHAAN_S5hift1]

1. 1 [Optian ID - 10365]
2. 7 [Option ID = 10366]

| 3. 3 [Option ID = 10367]
4. 4 [Option ID = 10368]



Correct Answer :-
& 1 [Option ID = 103465]

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as
Reason (R) :

Assertion (A) : Actual settings are the direct source of data and the researcher is the key
instrument in qualitative research.

Reasons (R) : The purpose underlying qualitative researches is relatively more directed
at depiction of reality rather than arriving at context free generalizations.

In the hight of the above statements, choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) 12 NOT the correct explanation of (A)
(3) (A) 15 true but (R) 1s false

(4) (A) is false but (R) is true

Hr 21 waa fom o # ;v sifeEE (Assertion A) % ¥4 | fafem # @ gen 79 FW0 (Reason R) +

YW :
AfiErea (A) :  awElEE G A T A 2 R e e 9 e I 2
F (R) : TEAF W9 T TENAEE AT 7 JEed F aAE aRatadal w5 A0

=q ¥ e 9094 =0 o fafm w2

IEE U F AR 9, A9 A0 e O oy I 9 99 A

(1) (A) 31k (R) 241 =@ £ 3 (R). (A) F1 o = 2 |
(2) (A) 31 (R) A1 I & =4 (R), (A) ¥ 95 =men T8 2|
(3) (A m= B, #fF (R) wo=a 2

(4) (A ¥\ ? A (R) 39 7

[Question ID = 2593][Question Description = Q15_GP_24NOV_51_SHAAN_Shift1]
| 1. 1 [Option 1D - 10369]

2. 2 [Option ID = 10370]

3. 1 [Option ID = 10371]

4 4 [Ontian 10 - 103771



Scientific research has the ultimate goal of explaining any phenomenon by

(1) Conditional laws (2) Laws of uniqueness
(3 Laws of intuition (4) Laws of generalisation
AT Y F T R e F R aeE A @, s A | we A v
() mE Fem (2) wizdrEa = e
(3) H=1; TS F Ham (4) == w5 e
[Question ID = 2689][Question Description = Q11_GP_Set8_S51_5Shift2]
1. 1 [Option ID = 10753]
2. 2 [Option ID = 10754]
3

. 3 [Option ID = 10755]
| 4. 4 [Option ID = 10756]



7)  Which of the following are true case studies?

(A)

(B)

(C)

(D)

(E)

Easv to generalize the findings

Normally Selects one case for analvsis at a time

Highly gquantitative in character

Integrates different perspectives

Adopts the most consequent approach to the particular

Choose the correct answer from the options given below :

(1

(3)

(4), (B). (C) only (2) (B). (C). (D) only

(B). (D). (E) only (4) (C). (D, (E) only

i 5 8 FF - eER F A A g A

(A)  wifer A s 2

(B) HMI=IAW UF HWY W TH WE ¥ 90 A |
(C) fasam d =3 ofmm T

(D) Tafwm ofmen = FaiEa = 2

(B) fafaw #q waige el 397m =t sofem w2 #)

44 far m faweal A ° 9 3w W 9w i

(1

(3)

T34 (A), (B), (C) (2) ¥3= (B), (C). (D)

Fae (B), (D), (E) (4) %= (C), (D), (E)

[Question ID = 2690][Question Description = Q12_GP_Set8_51_5hift2)
1. 1 [Option ID = 10757]
2. 2 [Option ID = 10758]
| 3. 3[Option ID = 10759]
4. 4 [Option ID = 10760]

R



8)

(A)

(B)

(€)

(I

(E)

Select a sample

Prepare the focus group material

Define the problem

Decide the number of groups needed

Prepare the mechanics of the study

Identify the sequence of methodological steps in focus group research :

Choose the correct answer from the options given below :

(1)

(3)

TFfZA O WY 0 FEEG T F gEe f wEE W

(A)

(B)

(C)

(D)

(E)

(A), (E), (D), (C), (B)

(B). (C). (A), (D), (E)

e i 9 |

T YR TIEE dAm |

T i =

AT A A W A A

ST OIS A

(C). (A), (D). (E), (B)

(D). (A). (C), (B). (E)

Hi= fau e e O ® 9 3 o9 Fifaw

(1)

(3)

(A). (E), (D). (C). (B) (2)

(B). (C). (A). (D). (E) 4

(C). (A), (D). (E). (B)

(I. (A}, (C). (B), (E)

[Question ID = 2691][Question Description = Q13_GP_Set8_51_Shift2]
1. 1 [Option ID = 10761]
| 2. 2 [Option ID = 10762]



Statement I: Soclal scientists belonging to the verstehen tradition do not accept the idea of

predieting human behavior in mechanistic terms.

Statement IT: It is asserted that the main aim of social science research is to promote
human understanding.
In the light of the above statements. choose the correct answer from the options given below:

(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement II are false

(3 Statement I is true but Statement IT 1= false

(4) Statement I is false but Statement II is true

fRnFsmRfrmE.

Foq (I):  F=A fifa 9 ooz amts e a=ad i 4@ gma =ew viesamit & e s =i

A A
F2 (ID) : T2 v+ +a1 7 2 FF At faam g 3293 oRe 9 #1 T = 2
T T F AEE §, A9 T ow e @ 5 9 e o =599 it
(1) o I#n I=miama )
(2) w9 1= 5 sma 2
(3) +47 [ wed 2, virea e I e 2

(4 =5 | 7 B, wtaa wea [ A 2

[Question ID = 2692][Question Description = Q14_GP_Set8_51_5Shift2]

| 1. 1 [Option ID = 10765]
2. 2 [Option ID = 10766]
3. 3 |Uption 1D = 1076 7]

4. 4 [Option ID = 10768]
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10)

Match List I with List IT

ListI
Concept

(A) Isomorphism

(B) Triangulation

(C) Principle of Parsimony
(D) Parameter

List IT
Description

(I!' Use of both qualitative and
gquantitative methods

(I) Premise that the simplest method is
most prefereable

(IIT} A property of a population
(IV) Similarity of structure

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4

(A)-(I), (B)-(T), (C)-(III), (D)-(IV)
(A)-(II), (B)-(III), (C)-(IV), (D)-(I)
(A)-(II0), (B)-(IV). (C)-(D). (D)-(IL)
(A)-(IV). (B)-(D). (C)-aD. (D)-AID

ﬁ—l%mﬂﬁ-naﬂhﬁﬂ’ﬁrﬁﬂ

(A
(B)
(C)
(D)

1
TH

AT
EREE!

-

FIU1 F1 g

T

H=2 22 ™ frreat 1 9 o T o owm Al

(A)-(I), (B)-(IL), (C)-(TII), (D)-(IV)
(A)-(II), (B)-(IIT), (C)-(IV), (D)-(D
(A)-(IID). (B)-(IV). (C)-(D). (D)-(ID
(A)-(IV), (B)-(D), (C)-(ID, (D)-IID

[Question ID = 2693][Question Description = Q15_GP_Set8_51_5Shift2]
1. 1 [Option ID = 10769]
2. 2 [Option ID = 10770]
3. 3 [Option ID = 10771]
| 4. 4 [Option ID = 10772]

(1)
(2)
(3)
(4)
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37)

Given below are two statements : One is labelled as Assertion (A) and the other 1s labelled as

Reason (R) :

Assertion (A):  Doing Inter — disciplinary research is more challenging than that in within
any single discipline.

Reasons (R) : It is not possible to combine knowledge from two disciplines.

In

the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) 1s true but (R) 1s false

4)

(A) 18 false but (R) 1s true

H= =1 #9F f5u u # : vF afeReT (Assertion A) % W H feffga # 91 g0 369% A (Reason R) F

£ 7o 7

F (R) 3 I | e 7 1 ST e T 2

IIF FIH F ATATF ¥, A9 210 70 fawedi § J T8 39 FT 9599 HifAu
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2
3
@

(A) #r (R) 31 =& 2 3 (R), (A) 1 =& =amen 2
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(A) 5= 2 &3 (R) 3793 2|

(A) #7972 FifF (R) T3 2|

[Question ID = 2720][Question Description = Q42_GP_Set8_51_Shift2]
1. 1 [Option ID = 10877]
2. 2 [Option ID = 10878]
| 3. 3 [Option ID = 10879]
4. 4 [Option ID = 10880]



